HEATIEIJSCAFHAE 7 = AT 4 2L KK B K E A

1/1

WA ;202141 H10H (H) 2 SAGAY T A A/R—7 Kk (25m)
No. 10 B 200m EHHE BA L L—RRpE £ 1:51.65
L 13- 14 >
B K 4 T & 2E KE B fE
1 = #jzE 7V AN R H2 3/ 5 1:57.18 116k
27.23 56. 41 1:26.93
2 AR R 7VF ANERE 1 3/ 8 2:01.29 10%
27.81 58. 20 1:29. 37
3 HE K 72k dil 2/ 2 2:05. 81 9%k
29. 42 1:01. 34 1:33. 80
4 JbkF B B&GHRLE  H1 2/ 1 2:05.99 9k
29. 34 1:01.41 1:34.07
5 faH R X9 EERE H2 2/ 5 2:09. 58 8#%
29. 35 1:01.53 1:35. 37
6 [T BEX B&GHRLXT 1 1/ 5 2:14.10 8#%
30. 69 1:05. 17 1:40. 46
T HEE R T AL il 1/ 6 2:14.53 Tk
31. 27 1:05.71 1:40. 85
8 BK B — ~/b 1 1/ 3 2:21.18 6%
32. 62 1:08. 37 1:44. 85
9 HRY  BE B — ~NFHTE Hi2 1/ 2 2:23.76 43t
31. 36 1:07. 20 1:45.90
10 fEA  BifH v — MAHTE /N6 1/ 8 2:24.28 Tk
32.32 1:08. 90 1:46.97
11 i v — MAHE H12 1/ 1 2:26. 51 4%
32.52 1:09. 94 1:48. 23
No. 10 B8 200m BH# B A LL—R R 25 % 1:46.28
£ 15~18m% >
B & 4 T & 2E KB BF fE
1 Ak FHE =S =5l 3/ 4 1:55. 46 10k
26. 29 55.31 1:25.40
2 )l BEKR v—MEFLTE &l 3/ 3 1:56. 41 107%
26. 30 55. 56 1:25. 58
3 HE fEER E—kSC =2 3/ 6 1:59.10 Sitk
28. 09 58. 38 1:29. 05
4 HF RBK (S HE S =2 3/ 2 1:59.28 8k
27.19 56. 62 1:27. 48
5 W Pl v—hSC 13 2/ 4 2:01. 61 8k
28. 58 59. 37 1:30. 87
6 W B (LR OHES &2 3/ 7  2:01.90 8tk
27.52 58. 09 1:29.75
T &7 RiA v—hSC 3 2/ 6 2:02.50 8k
28. 49 59.72 1:31.57
8 M #h TEEZEER &2 3/ 1 2:04.82 TR
29. 19 1:00. 82 1:33.25
9 A S B — h/Nb = 2/ 3 2:05. 33 8%
29. 30 1:01. 21 1:33. 60
10 Bk FH Ve P ¥ =8| 1/ 4  2:14.51 6%
30. 30 1:03. 98 1:39. 85
11 I8 A v — MAHTE =3 2/ 8 2:17. 47 5k
30. 60 1:04. 94 1:40.72
12 ¥k & (L =HES =) 1/ 7 2:20. 06 45%
31.59 1:06. 68 1:43. 30
HAOBRME . 1H13H 11:47



